DESCRIPTION: IP67 PANEL MOUNTING KIT

—_—— —

— ~~
e - =~ ~
7 ~N
e ~
s N N
/
v [ AN
P/N:160-067-010R033 (BAG) INCLUDES: // 0.187 \
/ 4-40 UNC-2B \
2 - 4-40 UNC-2B MOUNTING SCREWS / L I MOUNTING SCREW \
2 - TEFLON FLAT WASHERS / \
2 - 4-40 FLAT WASHERS / \
2 - 4-40 LOCK WASHERS / NOTE: \
2-4-40NUTS / RECOMMENDED 0.312 \
/ TORQUE = 20 IN-OZ NOTE: TEFLON WASHER \
/ OD IS 0.250 + 0.005 \\
P/N:160-067-020R033 (BAG) INCLUDES: | _ 1
| |
2 - 4-40 UNC-2B MOUNTING SCREWS | 4-40 TEFLON FLAT WASHER |
2 - TEFLON FLAT WASHERS | |
\ — PanEL" II
\
\ P'SlngSAESAELD . . SF67 & SFP67 Series /
. . Sealing Flange /
P/N:160-067-010RB33 (500 SETS) INCLUDE: \ SEPARATELY |
\ i CONNECTOR SHELL /
1-BAG OF 1000 - 4-40 UNC-2B MOUNTING SCREWS \ /
1-BAG OF 1000 - TEFLON FLAT WASHERS \ ————3+—— 4-40 FLAT WASHER /
1-BAG OF 1000 - 4-40 FLAT WASHERS \ /
1- BAG OF 1000 - 4-40 LOCK WASHERS \ [ 7 1 4-40 LOCK WASHER /
1-BAG OF 1000 - 4-40 NUTS AN y
\ /
N 7
P/N:160-067-020RB33 (500 SETS) INCLUDE: N ~ % s
~ e
1 - BAG OF 1000 - 4-40 UNC-2B MOUNTING SCREWS N - - -
1-BAG OF 1000 - TEFLON FLAT WASHERS \\\\__l____,///
~ - ~
/ N
7 \
*MAXIMUM PANEL THICKNESS [ | ]H—H \
0.035"-0.038" when using 09/15 sized SF67 Series Sealing Flanges (non-adhesive) |
0.027"-0.030" when using 25 sized SF67 Series Sealing Flanges (non-adhesive) \ /
[ |
J0oooooon ™ ~—-"
ReFIS COMIPILIANTT UNITS = inch DO NOT SCALE FROM DRAWING
DRAWN: SCALE: SHEET OF REV
NTS 1 1 9

THESE DRAWINGS AND SPECIFICATIONS ARE

THE PROPERTY OF NorComp AND SHALL NOT C. SMITH

BE REPRODUCED, COPIED OR USED AS THE N O r' O m

BASIS FOR THE MANUFACTURE OR SALE OF | DATE: C DWG NO.

APPARATUS WITHOUT WRITTEN PERMISSION. 01/15/2010

160-067-0YOR033




